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âñp¡“p S>hpb Ap‘sp ‘l¡gp„ “uQ¡ Ap‘¡gu k|Q“pAp¡ Ýep“‘|h®L$ hp„Qp¡ :

(1)	 âñ‘Ó b¡ cpNdp„ hl¢Qpe¡gy„ R>¡. cpN-I dp„ s©sue cpjp“p 1 ’u 25 âñp¡ R>¡ A“¡ cpN-II dp„ byqÙdÑp 

L$kp¡V$u“p 26 ’u 75 âñp¡ R>¡. sdpd 75 âñp¡ afrS>eps R>¡.

(2)	 sdpd âñ“p v$f¡L$“p b¡ NyZ R>¡.

(3)	 âñ‘Ó DL¡$ghp dpV¡$ 90 rdr“V$“p¡ kde R>¡.

(4)	 S>hpbp¡ “p¢^hp dpV¡$ AgN DÑfhlu Ap‘¡gu R>¡. v$f¡L$ âñdp„ Qpf rhL$ë‘p¡ Apàep R>¡. s¡ Ýep“‘|h®L$ hp„Qp¡. kpQp¡ 

rhL$ë‘ ‘k„v$ L$fu“¡ Dv$plfZ dyS>b hsy®m“¡ ‘|Z®‘Z¡ f„Nhp“y„ R>¡.

	 Dv$plfZ sfuL¡$:- Å¡ âñ “„bf 6 dpV¡$ kpQp¡ rhL$ë‘ 2 lp¡e sp¡ “uQ¡ âdpZ¡ s¡“u “p¢^ L$fhu.

	 âñ “„bf 6 -	 1 1 3 4

(5)	 AÞe L$p¡C‘Z âL$pf¡ Ap‘¡gp S>hpb“¡ Ýep“dp„ g¡hpi¡ “l]. Aphp S>hpb dpV¡$ "i|Þe' NyZ Ap‘hpdp„ Aphi¡.

				    1 2 4

(6)	 hsy®m f„Nhp dpV¡$ hpv$mu A’hp L$pmu bp¡g‘¡““p¡ D‘ep¡N L$fhp¡. ‘¡[Þkg’u OpV$p L$f¡gp hsy®m“p NyZ Dd¡fpi¡ “l].
(7)	 Å¡ A¡L$’u h^y hsy®m f„Áep li¡ A’hp R>¡L$R>pL$ L$fu“¡ S>hpb “p¢^¡gp li¡ sp¡ s¡ N°pü ^fhpdp„ Aphi¡ “l].
(8)	 A¡L$ hMs S>hpb “p¢^u v$u^p ‘R>u bv$gu iL$pi¡ “l].
(9)	 âñ‘Ódp„ v$f¡L$ ‘p“pdp„ “uQ¡ Ap‘¡gu S>Áepdp„ A’hp R>¡ëgp ‘p“¡ L$pQy„ L$pd L$fhy„.
(10)	‘funp“p¡ kde dep®qv$s R>¡, Å¡ sd¡ L$p¡C âñ “p DL¡$gu iL$p¡ sp¡, L©$‘p L$fu“¡ ‘R>u“p¡ âñ DL¡$gp¡. Å¡ R>¡ëg¡ kde 

bQ¡ sp¡ DL¡$ëep hNf“p âñp¡ DL¡$ghp“p¡ afu âepk L$fp¡.
(11)	Å¡ sd“¡ L$p¡C âñ A^|fp¡ A’hp c|g hpmp¡ gpN¡ sp¡, r“funL$ A’hp L¡$ÞÖ k„QpgL$ ‘pk¡ ‘|R>‘fR> L$fhu “l].
(12)	L$p¡C c|g/Mpdu/hp„^p¡ lp¡e sp¡, ipmp A’hp dpsp-r‘sp ågp¡L$ ‘funp Ar^L$pfu A’hp ‘funp Ar^L$pfu“¡ 

AfÆ dp¡L$gu iL$sp “’u. Ap c|g/Mpdu/hp„^p dpÓ k„b„r^s õL|$g“p gp¡Nu“ Üpfp Ap¡“gpB“ “p¢^hhp.
(13)	c|g/Mpdu/hp„^p¡ MSCE “u h¡bkpBV$ ‘f spÐ‘yfsu A„rsd DÑfk|rQ ârkÙ ’ep ‘R>u 10 qv$hkdp„ Ap¡“gpB“ 

“p¢^hhp.
(14)	dyÖZv$p¡j A’hp AÞe L$pfZp¡kf âñdp„ c|g R>¡ A¡d S>Zpi¡ sp¡ sS>o krdsu“p Arcâpe dyS>b ep¡Áe 

L$pe®hplu L$fhpdp„ Aphi¡.
(15)	d|m dpÝed kp’¡ A„N°¡Æ dpÝed“u âñ‘rÓL$p Ap‘¡gu li¡. d|m dpÝeddp„ “ kdÅe s¡hp âñp¡ dpV¡$ A„N°¡Æ 

âñp¡dp„ Å¡hy„.

‘|h®-DÃQ âp’rdL$ rióeh©rÑ ‘funp (^p¡fZ-5), d¡ - 2021

‘¡‘f “„bf - II	 dpÝed: NyS>fpsu	 kde: 1:30 ’u 3:00

‘p“p: 32	 s©sue cpjp A“¡ byqÙdÑp L$kp¡V$u	 Ly$g NyZ: 150

b¡W$L$ “„bf
k¡V$ A0 4 0 2
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SPACE FOR ROUGH WORK

Section - I

Instructions for Q. 01 to Q. 03 
Read the passage carefully and choose the correct options:
	 A red traffic light is a warning that means STOP. It is not safe to cross the road 

until the green signal lights up. Start walking when green signal is on.
	 In short, a red light is a warning to pay attention.

01.	 If Red : Stop then Green : ?
	 (1)	 Pay	 	 	 (2)	 Safe
	 (3)	 Walk	 	 	 (4)	 Warn

02. 	 Find out the rhyming word from the passage for night.
	 (1)	 eight	 	 	 (2)	 right
	 (3)	 slight	 	 	 (4)	 light

03.	 Select the correct adjective from the given passage.
	 (A)	 Red               (B)   Green
	 (1)	 ‘A’ and ‘B’ correct		 (2)	 ‘B’ correct
	 (3)	 ‘A’ correct	 	 	 (4)	 ‘A’ and ‘B’ incorrect

04. 	 Select the set which has different sound
	 (1)	 Camera, Castle, Cabbage, Cat	
	 (2)	 Hat, Handle, Hammer, Hand
	 (3)	 Kitten, Kettle, Knife, Kingdom	
	 (4)	 Mat, Map, Man, Mango
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05.	 Look at the greeting card. Read the message and choose the correct option.

Dear Teacher,
	 We all love you and 
respect you very much.

Thank you

	 (1)	 Happy Independence Day	 (2)	 Happy Teacher’s Day
	 (3)	 Happy Mother’s Day	 (4)	 Happy Diwali

06. 	 Choose the mismatch pair from the given options.
	 (1)	 deer - deer	 	 	 (2)	 student - students
	 (3)	 mouse - mice	 	 (4)	 ox - oxes

07.	 Select the correct option for the given word
	 Lift :
	 (1)	 the wall	 	 	 (2)	 the farm
	 (3)	 the river	 	 	 (4)	 the box

08. 	 Choose the correct pair from the given options.

		

Bear

roar 	

Owl

hoot 	

Pig

growl
	

Frog

squawk

		  (1)	 (2)	 (3)	 (4)

09.	 Choose the correct ordinal number which comes after Eleven.
	 (1)	 Tewflth	 	 	 (2)	 Twvlfth
	 (3)	 Twelfth	 	 	 (4)	 Tweflth
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

10. 	 Look at the picture and select the correct conversation which matches with the 
picture:

	 (1)	 A : Please give us two full glasses of sugarcane juice.
	 	 B : But Mamma, I want some ice in my juice.
	 (2)	 A : Give me some tomatoes
	 	 B : Where’s your bag ?
	 (3)	 A : Do you like roasted two corn-cobs?
	 	 B : Oh, I love them
	 (4)	 A : Have you tried these cakes?
	 	 B : This is a new cake shop

11.	 Choose the correct opposite words for ‘a’ and ‘b’.

a deep × ?

b ugly × ?

	 (1)	 Top, Cute	 	 	 (2)	 Bottom, Sweet
	 (3)	 Shallow, Beautiful	 	 (4)	 Fountain, Cruel

12. 	 Choose the correct option of the following statement which indicates the correct 
time

	 ‘Rita wakes up early in the morning’
	 (1)	 7 p.m.	 	 	 (2)	 7 a.m.
	 (3)	 3 p.m.	 	 	 (4)	 12 noon
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13.	 Complete the box by choosing the correct action word for the given word.

Spinach

? wash

buy eat
	 (1)	 lump	 	 	 (2)	 scribble
	 (3)	 wobble	 	 	 (4)	 cook

14. 	 The sign  indicates 

	 (1)	 stop	 	 	 (2)	 turn right
	 (3)	 go straight	 	 	 (4)	 turn left

15.	 Rearrange the numbers and make meaningful words.	
	 v	 a	 f	 t	 i	 u	 r	 o	 e
	 1	 2	 3	 4	 5	 6	 7	 8	 9
	 (1)	 3 2 1 8 6 7 5 4 9	 (2)	 3 1 2 8 7 6 5 4 9
	 (3)	 3 2 7 1 8 6 5 9 4	 (4)	 3 2 1 7 6 8 5 4 9

16. 	 Solve the riddle
	 ‘I use a spanner and 
	 a screw - driver.
	 Who am I?’
	 (1)	 mechanic	 	 	 (2)	 potter
	 (3)	 milkman	 	 	 (4)	 farmer

17.	 Choose the correct option for the given word : Shape
	 (1)	 high	 	 	 (2)	 low
	 (3)	 fast	 	 	 (4)	 circle



0402 / Gujarati Set-A 	  6 of 32	  Contd...

SPACE FOR ROUGH WORK

A B C D E F G H I J K L M N O P Q R S T U V W X Y

18. 	 Choose the correct ‘Motto’ from the given options
	 (1)	 We’ll all be quiet together 	 (2)	 Give me a story book
	 (3)	 Protect all plants	 	 (4)	 Form groups of ten

19.	 Fill in the blank with the correct option. 
	 He has bought .................... electric iron.
	 (1)	 the	 	 	 (2)	 an
	 (3)	 no article	 	 	 (4)	 a

20. 	 Look at the diagram and choose the correct option.

moss cactus

Plants

herb ?

	 (1)	 stem	 	 	 (2)	 thorn
	 (3)	 vine	 	 	 (4)	 grain

21.	 Look at the picture and select the correct expression

	 (1)	 scared	 	 	 (2)	 proud
	 (3)	 shy	 	 	 (4)	 sleepy
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22. 	 Look at the advertisement and choose the correct option

Sunny Biscuit Shop

	 Buy two cream Biscuit Packets!

	 	 Get one packet of chocolate Biscuit free!

	 Price Starting from 10 Rs. for one packet.

	
	 Khari Biscuits, Cream Biscuits

	 	 Chocolate Cream Biscuits
	 	 Almond Biscuits

	 You can buy ............... packets of cream biscuits and get ................ packet of 
chocolate biscuits.

	 (1)	 1, 1	 (2)	 1, 2	 (3)	 2, 1	 (4)	 2, 0

23.	 How many capital letters should be in the given sentence.
	 i am sopan bhosale
	 (1)	 2	 (2)	 3	 (3)	 4	 (4)	 1

24. 	 Choose the correct option of punctuation mark for underlined sentence.
	 A : What’s your name
	 B : Tell me your name, please
	 C : Chandrashekhar, You can call me Chandu
	 (1)	 ?	 (2)	 .	 (3)	 ;	 (4)	 !

25.	 Choose the sentence which has correct punctuation marks.
	 (1)	 Oh no! what shall I do now?	 (2)	 Oh, no? what shall I do now?
	 (3)	 Oh, no! What shall I do now.	 (4)	 Oh, no! what shall I do now?
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SECTION - II
INTELLIGENCE TEST

26. 	 �In the word ‘EXTRAORDINARY’, which is the letter at the 4th place to the 
right of the letter ‘O’?

	 (1)	 X	 (2)	 A	 (3)	 T	 (4)	 N

Q. 27 to Q. 31 Direction : Find the odd term.

27. 	 (1)	 Moon 	 (2)	 Mars	 (3)	 Jupiter	 (4)	 Saturn

28. 	 (1)	 9	 (2)	 65	 (3)	 26	 (4)	 126

29. 	 (1)	 386	 (2)	 264	 (3)	 275	 (4)	 495

30. 	 (1)	 Millenium	 (2)	 Second	 (3)	 Century	 (4)	 Light year

31. 	 	 	 	

		  (1)		  (2)		  (3)		  (4)	

32. 	 �In the letter series “V, M, E, T, R, L, M, E, S, O, L, M, E, T, S, Q, V, M, E, 

O, L”, how many times M is preceded by E and is immediately followed by T?

	 (1)	 3	 (2)	 2	 (3)	 4	 (4)	 1
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SECTION - II

byqÙdÑp L$kp¡V$u

26.	 "‘rss‘ph“' Ap iåv$dp„“p "s' Ap Anf“u S>dZubpSy>“p¡ buÅ¡ Anf L$ep¡ Aphi¡?

	 (1)	 ‘$	 (2)	 rs	 (3)	 “$	 (4)	 h$

â. 27 ’u 31 dpV¡$ k|Q“p:- S|>’dp„ b„^b¡ksy„ “ lp¡e s¡hy„ ‘v$ Ap¡mMp¡.

27.	 (1)	 Q„Ö$	 (2)	 d„Nm	 (3)	 Nyê$$	 (4)	 ir“$

28.	 (1)	 9	 (2)	 65	 (3)	 26$	 (4)	 126

29.	 (1)	 386$	 (2)	 264	 (3)	 275$	 (4)	 495

30.	 (1)	 lÅf$	 (2)	 k¡L„$X$	 (3)	 isL$$	 (4)	 âL$pihj®$

31.	 	 	 	

		  (1)	     (2)	     (3)	     (4)

32.	 "îud„s, L$ê$Zpd|rs®, L$sp®lsp®, F>sy, hv$“, kd‘®Z, âhpk' Ap iåv$kd|ldp„ Å¡X$pnf lp¡e 

s¡hp Ly$g Anf L¡$V$gp R>¡?

	 (1)	 7$	 (2)	 6	 (3)	 9$	 (4)	 5$$
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33. 	 �Find the correct alternative to replace the question mark in the series given below.
	 4, 7, 13, 25, 49, ?
	 (1)	 59	 (2)	 95	 (3)	 97	 (4)	 69

34. 	 �In the given figures there is a particular sequence. Identify the sequence and find 
the figure which will replace the question mark. 

	 	 	 	
?

	 	 	 	
	     (1)	 (2)	     (3)  	   (4)$

35.	

	 �In the number series by how much is the sum of prime numbers is more or less than the 
sum of composite numbers?

	 (1)	 More by 10	 	 	 (2)	 Less by 10

	 (3)	 Less by 9	 	 	 (4)	 More by 9
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33.	 “uQ¡“u k„¿epdpmpdp„ âí“rQŒ“p õ’p“¡ Aph“pfp¡ ‘ep®e ip¡^p¡.

	 4, 7, 13, 25, 49, ?

	 (1)	 59	 (2)	 95	 (3)	 97$	 (4)	 69$

34.	 Ap‘¡gu ApL©$rsAp¡dp„ rhrióV$ âL$pf“p¡ ¾$d R>¡. sp¡ ¾$d Ap¡mMu“¡ âñrQŒ“p õ’p“¡ L$C ApL©$rs 
Aphi¡ s¡ ip¡^p¡.

	 	 	 	
?

	 	 	 	
	     (1)	     (2)	     (3)	     (4)$

35.	

	 D‘fp¡¼s k„¿epdpmpdp„“u d|mk„¿epAp¡“p¡ Ly$g kfhpmp¡ k„ey¼s k„¿epAp¡“p Ly$g kfhpmp L$fsp 

L¡$V$gp’u Ap¡R>p¡ L¡$ h^pf¡ R>¡?

	 (1)	 10 ’u h^pf¡$			   (2)	 10 ’u Ap¡R>p¡

	 (3)	 9 ’u Ap¡R>p¡$			   (4)	 9 ’u h^pf¡$
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Q. 36 and Q. 37 : Direction : Find out the mirror image of each of the following question 
figure from the alternatives given.	

36.	 Question Fig.	 	 Answer Fig.

       	 	 	 	 	
			  	      (1)	 (2)	 (3)	 (4)	

37.	 Question Fig.	 	 Answer Fig.

       	 	 	 	 	
				    (1)	 (2)	 (3)	 (4)	

38. 	 �In the given alphabetical series, which group of letters will occur at the place 

of question mark?

	 ––?–– M N –?– N M M –?– M N M –?– N –?– N

	 (1)	 MMNMM	 	 	 	 (2)	 MNMNM

	 (3)	 MMNMN	 	 	 	 (4)	 MNMMM
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â. 36 A“¡ 37 dpV¡$ k|Q“p:-
Ap‘¡gp âñp¡dp„ âñApL©$rs“u Afukpdp„ ârsdp L¡$hu v$¡Mpi¡ s¡ ‘ep®eu Dsf ApL©$rsdp„’u “L$L$u L$fp¡.

36.	 âñ ApL©$rs			  DÑf ApL©$rs

	 	 	 	 	 	
			  		      (1)	     (2)	     (3)	     (4)

37.	 âñ ApL©$rs			  DÑf ApL©$rs

	 	 	 	 	 	
				        (1)	     (2)	     (3)	     (4)

38.	 “uQ¡ Ap‘¡gp rQŒ“u dprgL$pdp„ âñrQŒ“p õ’p“¡ rQŒ“p¡ L$ep¡ kd|l Aphi¡?

	  ?  MN  ?  NMM  ?  MNM  ?  N  ?  N
	 (1)	 MMNMM$	 	 	 (2)	 MNMNM
	 (3)	 MMNMN$	 	 	 (4)	 MNMMM$$
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Q. 39 and Q. 40 : Direction : In each question a problem figure is held vertical above water 
surface. Identify its water reflection and select the correct alternative.

39. 	 Question Fig.	 	 	           Answer Fig.

	 	 	 	 	
	  	 (1)	 (2)	 (3)	 (4)	

40. 	 Question Fig.	 	 Answer Fig.

	 	 	 	 	
	  	 (1)	 (2)	 (3)	 (4)	

41. 	 �Find the correct alternative to replace the question mark in the given number 
series.

	 13, 15, 19, 27, ?
	 (1)	 35	 (2)	 27	 (3)	 32	 (4)	 30

42. 	 A B C D E  F G H I J  K L M N O  P Q R S T  U V W X Y 

	 �In the given alphabetical series, write the left adjacent letter, of the letter which 
is at seventh place from the right end?

	 (1)	 E	 (2)	 T	 (3)	 R	 (4)	 Y
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â.: 39 A“¡ 40 dpV¡$ k|Q“p:-
“uQ¡ Ap‘¡gu âñApL©$rs ‘pZu D‘f Ecu ‘L$X$sp„ s¡“y„ ‘pZudp„ ârstbb L¡$hy„ v$¡Mpi¡ s¡ DÑf 
ApL©$rsdp„’u ip¡^p¡.

39.	 âñ ApL©$rs			  DÑf ApL©$rs

	 	 	 	 	
	  	 (1)	 (2)	 (3)	 (4)

40.	 âñ ApL©$rs	         DÑf ApL©$rs

	 	 	 	 	
	  	 (1)	 (2)	 (3)	 (4)

41.	 Ap‘¡gu k„¿epdpmpdp„ âí“rQŒ“p õ’p“¡ Aph“pfp¡ ‘ep®e ip¡^p¡.

	 13, 15, 19, 27, ?

	 (1)	 35$	 (2)	 27	 (3)	 32$	 (4)	 30$$

42.	 A B C D E  F G H I J  K L M N O  P Q R S T  U V W X Y 

	 D‘fp¡¼s Anfdpmpdp„ S>dZu bpSy>“p kpsdp Anf“u X$pbubpSy>“p¡ sfs“p¡ S> Anf L$ep¡?

	 (1)	 E$	 (2)	 T	 (3)	 R$	 (4)	 Y
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Q. 43 to 47 : Direction : In the following questions, first pair has same relationship between 
first two terms. The same relation holds true for the second pair. Identify the relation and select 
the correct alternative.

43. 	 Bhakri : Jowar :: Butter : ?
	 (1)	 Sugarcane	 	 	 (2)	 Raw Mango
	 (3)	 Milk	 	 	 (4)	 Bajra

44.	   

:
   

::
	 	

:  ?

	 	 	 	
		  (1)	 (2)	 (3)	 (4)

45.	  

:
	    

::
	 	

:  ?

	 	 	 	
		  (1)	 (2)	 (3)	 (4)
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âñ 43 ’u 47 dpV¡$ k|Q“p:-
Ap‘¡gp âñdp„ ‘l¡gp ‘v$“p¡ buÅ‘v$ kp’¡ S>¡hp¡ k„b„^ R>¡ s¡hp¡ S> k„b„^ ÓuÅ A“¡ Qp¡’p ‘v$dp„ 
R>¡. s¡ k„b„^ ip¡^p¡ A“¡ âñrQŒ“p õ’p“¡ ep¡Áe ‘ep®e gMp¡.

43.	 fp¡V$gp¡ : Sy>hpf : : dpMZ : ?

	 (1)	 i¡fX$u$	 (2)	 L¡$fu	 (3)	 v|$^$	 (4)	 bpS>fu$$

44.	   

:
   

::
	 	

:  ?

	 	 	 	
		  (1)	 (2)	 (3)	 (4)

45.	  

:
	    

::
	 	

:  ?

	 	 	 	
		  (1)	 (2)	 (3)	 (4)
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46. 	 4 : 18 :: 6 :: ?
	 (1)	 19	 (2)	 22	 (3)	 18	 (4)	 27

47. 	 26 : 38 :: 48 : ?
	 (1)	 52	 (2)	 80	 (3)	 48	 (4)	 64

48. 	 Find the odd term in the given series.
	 3, 4, 6, 10, 22, 34
	 (1)	 6	 (2)	 10	 (3)	 22	 (4)	 34

49. 	 �Swati is eight years older than Kranti. The sum of the present ages of both the 
girls is 44. Find the age of Swati eight years before?

	 (1)	 52	 (2)	 36	 (3)	 34	 (4)	 18

50. 	 �If Rat is called Cat, Cat is called Donkey, Donkey is called Dog, Dog is called 
Deer, Deer is called Human, Human is called Rabbit, Rabbit is called Calf then 
who is the most intelligent animal among them?

	 (1)	 Human	 	 	 (2)	 Calf
	 (3)	 Rabbit	 	 	 (4)	 Dog

Q. 51 and Q. 52 : Direction : Find out the figure which exactly matches with the question 
figure from the four alternative figures given below.

51.	 Question Fig.	 	 Answer Fig. 

    	 	 	 	 	
				    (1)		  (2)		        (3)		     (4)	
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46.	 4 : 18 :: 6 : ?
	 (1)	 19$	 (2)	 22	 (3)	 18$	 (4)	 27

47.	 26 : 38 :: 48 : ?
	 (1)	 52$	 (2)	 80	 (3)	 48$	 (4)	 64

48.	 Ap‘¡gu k„¿epdpmpdp„“y Aep¡Áe ‘v$ Ap¡mMp¡.
	 3, 4, 6, 10, 22, 34
	 (1)	 6$	 (2)	 10	 (3)	 22$	 (4)	 34$$

49.	 õhprs ¾$p„rs L$fsp 8 hj®’u dp¡V$u R>¡. s¡ bÞ“¡“u ApS>“u Jdf“p¡ kfhpmp¡ 44 hj® R>¡. 
sp¡ õhprs“u ApW$ hj® ‘l¡gp„“u Jdf L¡$V$gu li¡?

	 (1)	 52$	 (2)	 36	 (3)	 34	 (4)	 18$

50.	 Jv$f“¡ rbgpX$u L$luA¡, rbgpX$u“¡ N^¡X$p¡ L$luA¡, N^¡X$p“¡ L|$sfp¡ L$luA¡, L|$sfp“¡ lfZ L$luA¡ 
lfZ“¡ dpZk L$luA¡, dpZk“¡ kkgy„ L$luA¡, kkgp“¡ hpR>fXy„$ L$luA¡ sp¡ kp¥’u by[Ý^dp“ 
âpZu L$p¡Z li¡?

	 (1)	 dpZk$	 (2)	 hpR>fXy„$	 (3)	 kkgy„	 (4)	 L|$sfp¡

	 âñ 51 A“¡ 52 dpV¡$ k|Q“p:-
	 “uQ¡“u âñ ApL©$rs“¡ b„^b¡ksu ApL©$rs ‘ep®edp„’u ip¡^p¡.
51.	 âñ ApL©$rs			   DÑf ApL©$rs
	

	 	 	 	 	 	
			   (1)	 (2)	 (3)	 (4)
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52.	 Question Fig.	 	 Answer Fig. 

	 	 	 	 	 	
				    (1)	 (2)		   (3)			   (4)	

53. 	 �In a shop, there are few sacks of Wheat, Jowar, Bajra, Tur, Sugar. The number 
of sacks of Sugar’s is twice the total of all other sacks. All other sacks of grains 
are equal i. e each of 12. Find out the total number of sacks in the shop?

	 (1)	 60	 	 	 (2)	 144
	 (3)	 96	 	 	 (4)	 180

54. 	 Find out the total numbers of squares present in the given figure.

	
	 (1)	 8			   (2)	 9
	 (3)	 11			   (4)	 12

Q. 55 to Q. 59 : Direction : In each of the following questions three words are given with 
some common relation. So their group is formed. Select a word from the alternatives given 
which has the same common feature of the given group.

55. 	 Sugar, Salt, Washing soda, ................
	 (1)	 Alum powder		 	 (2)	 Turmeric powder
	 (3)	 Oil	 	 	 (4)	 Sand
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52.	 âñ ApL©$rs			   DÑf ApL©$rs

	 	 	 	 	 	
			   (1)	 (2)	 (3)	 (4)

53.	 A¡L$ vy$L$p“dp„ OJ, Sy>hpf, bpS>fu, syh¡f, kpL$f“u L¡$V$guL$ NyZp¡ R>¡. Apdp„ kpL$f“u NyZp¡ 
AÞe kh® ^pÞe“u Ly$g NyZp¡“u k„¿ep L$fsp„ bdZu R>¡. s¡dS> kpL$f rkhpe“u AÞe kh® 

NyZp¡ kdp“ A¡V$g¡ L¡$ âÐe¡L$“u 12 R>¡. sp¡ vy$L$p“dp„ ^pÞe“u NyZp¡“u Ly$g L¡$V$gu k„¿ep R>¡?

	 (1)	 60$	 (2)	 144	 (3)	 96$	 (4)	 180

54.	 Ap‘¡gu ApL©$rsdp„ Ly$g L¡$V$gp Qp¡fk R>¡?

		

	 (1)	 8$	 (2)	 9	 (3)	 11$	 (4)	 12

âñ 55 ’u 59 dpV¡$ k|Q“p:-
âñ“u iê$Apsdp„ ÓZ ‘v$ Apàep R>¡. s¡d“u L¡$V$guL$ rhrióV$spAp¡ R>¡, s¡’u s¡d“y„ A¡L$ S|>’ s¥epf 
’pe R>¡. 
55. 	 Ap S|>’dp„ b„^b¡ksy„ ‘v$ Ap‘¡gp ‘ep®edp„’u ip¡^p¡.
	 kpL$f, duWy„$, ^p¡hp“p¡ kp¡X$p, ...............
	 (1)	 aV$L$X$u$	 (2)	 lmv$f	 (3)	 s¡g$	 (4)	 f¡su$
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56. 	 Onion, Garlic, Potato, ................
	 (1)	 Sweet potato	 	 	 (2)	 Radish
	 (3)	 Beet root	 	 	 (4)	 Ginger

57.	 	 	 	

	 	 	 	
		  (1)	 (2)	 (3)	 (4)

58.
	 	 	

	 	 	 	
		  (1)	 (2)	 (3)	 (4)

59. 	 3412, 4520, 2510, ................
	 (1)	 1234	 	 	 (2)	 2020
	 (3)	 5402	 	 	 (4)	 4416
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56.	 L$p„v$p, gkZ, bV¡$V$p, ............
	 (1)	 fspmy„$	 (2)	 d|mp	 (3)	 buV$$	 (4)	 Apvy$

57.	 	 	 	

	 	 	 	
		  (1)	 (2)	 (3)	 (4)

58.
	 	 	

	 	 	 	

		  (1)	 (2)	 (3)	 (4)	

59.	 3412, 4520, 2510 _________
	 (1)	 1234$	 (2)	 2020	 (3)	 5402$	 (4)	 4416
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60. 	 Find out the number of triangles in the given figure.

	
	 (1)	 14	 (2)	 11	 (3)	 10	 (4)	 13

61. 	 �John and Mois are standing in a row. John is at 17th place from the beginning 
and 8th from back. On the other hand Mois is 6th from the beginning then what 
will be his position from back?

	 (1)	 24	 (2)	 19	 (3)	 18	 (4)	 17

62. 	 �Rashid is standing facing North East. He turned to his left 3 times in right 
angles. Which of the following directions will be there to his right?

	 (1)	 South West	 	 	 (2)	 North West
	 (3)	 North 	 	 	 (4)	 North East

Q. 63 and Q. 64 : Direction : In the code language few numbers are denoted using symbols. 
Study them and find the correct alternative.

Numbers 0 1 2 3 4 5 6 7 8 9

Symbols +    ∇ × || @ ∆

63. 	 ∆ Subtract  Multiply + Add X
	 (1)	 12			   (2)	 15
	 (3)	 6			   (4)	 9
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60.	 Ap‘¡gu ApL©$rsdp„ Ly$g L¡$V$gp rÓL$p¡Z R>¡?

	

	 (1)	 14$	 (2)	 11	 (3)	 10	 (4)	 13

61.	 Å¡“ A“¡ dp¡Ck A¡L$ lfp¡mdp„ Ecp R>¡. Å¡““p¡ ApNm’u ¾$dp„L$ 17 dp¡ A“¡ ‘pR>m’u 
ApW$dp¡ ¾$dp„L$ R>¡. Å¡ dp¡Bk“p¡ s¡ S> lfp¡mdp„ ApNm’u 6Ì$p¡ ¾$dp„L$ lp¡e sp¡ dp¡Bk“p¡ R>¡ëg¡’u 
L¡$V$gpdp¡ ¾$dp„L$ li¡?

	 (1)	 24$	 (2)	 19	 (3)	 18$	 (4)	 17

62.	 fiuv$ Bip“ qv$ip sfa dp¡Yy„$ L$fu“¡ Ecp¡ R>¡. s¡ L$pV$L$p¡Zdp„ X$pbusfa ÓZ hMs hþep¡. sp¡ 
lh¡ s¡“p S>dZplp’ sfa“u qv$ip L$C li¡?

	 (1)	 “¥F>Ðe$	 (2)	 hpeìe	 (3)	 DÑf$	 (4)	 Bip“

âñ 63 A“¡ 64 dpV¡$ k|Q“p:-
A¡L$ kp„L¡$rsL$ cpjpdp„ A„L$p¡ dpV¡$ L¡$V$gpL$ rQŒp¡ Ap‘¡gp„ R>¡. s¡“p¡ rhQpf L$fu“¡ ep¡Áe DÑf ip¡̂ p¡.

A„L$ 0 1 2 3 4 5 6 7 8 9

rQŒ +    ∇ × || @ ∆

63.	 ∆ Ap¡R>p    NyÎep + kfhpmp¡ ×
	 (1)	 12$	 (2)	 15	 (3)	 6$	 (4)	 9$
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64. 	 ∇ Add | | Subtract ∆ Divide 
	 (1)	 9			   (2)	 8
	 (3)	 2			   (4)	 6

65. 	 In the given figure, how many cubical boxes are there?

	 (1)	 13	 (2)	 28	 (3)	 18$	 (4)	 23

66. 	 �In the year 2017. Republic day was on Wednesday then in the same year  
Dr. Babasaheb Ambedkar Jayanti was on which day?

	 (1)	 Saturday	 	 	 (2)	 Sunday
	 (3)	 Thursday	 	 	 (4)	 Friday

67. 	 �Observe the venn diagram carefully and choose the correct answer from the 
alternatives for the questions given below.

	
	 �What will be the difference between the sum of numbers that are only in rectangle 

and triangle to that of the numbers only in circle and rectangle?
	 (1)	 23	 (2)	 5	 (3)	 6	 (4)	 2
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64.	 ∇ kfhpmp¡ || Ap¡R>p ∆ cpÁep  

	 (1)	 9$	 (2)	 8	 (3)	 2$	 (4)	 6

65.	 Ap‘¡gu ApL©$rsdp„ Ly$g L¡$V$gp O“ R>¡?

	

	 (1)	 13	 (2)	 28	 (3)	 18$	 (4)	 23$

66.	 B. k. 2017 dp„ âÅkÑpL$qv$“ by^hpf¡ lsp¡. sp¡ s¡ S> hj£ X$p¸. bpbpkpl¡b Ap„b¡X$L$f 

S>e„rs L$ep hpf¡ Aphu li¡?

	 (1)	 ir“hpf$	 (2)	 frhhpf	 (3)	 Nyê$hpf$	 (4)	 iy¾$hpf

67.	 Ap‘¡gu h¡“ ApL©$rs Ýep“’u Sy>Ap¡ A“¡ “uQ¡“p âñ“p¡ DÑf ‘ep®edp„’u ip¡^p¡.
	 âñ: a¼s g„bQp¡fk, A“¡ rÓL$p¡Zdp„ lp¡e s¡hp A„L$ A“¡ a¼s hsy®m A“¡ g„bQp¡fkdp„ lp¡e 

s¡hp A„L$p¡“p kfhpmpdp„ L¡$V$gp¡ saphs Aphi¡?

	

	 (1)	 23$	 (2)	 5	 (3)	 6$	 (4)	 2$
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68. 	 �The given figure shows the number of musicians in triangle, singers in rectangle 
and actors in circle. Observe the figure and answer the questions.

	
	 Find the number of people who are singers as well as musicians and actors?
	 (1)	 3	 (2)	 4	 (3)	 5	 (4)	 2

69. 	 1st February 2016 was Monday. What was the day on 1st February 2010?
	 (1)	 Monday	 (2)	 Tuesday	 (3)	 Thursday	 (4)	 Friday

70. 	 Select the number to replace the question mark.
4 14 49
9 18 36
16 ? 25

	 (1)	 18	 (2)	 15	 (3)	 30	 (4)	 20

71. 	 �In a code language CAP = 341, PAN = 417, RAN = 197 is written like this. 
In the same language how will be the word CAR written?

	 (1)	 917	 (2)	 391	 (3)	 471	 (4)	 734
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68.	 Ap‘¡gu h¡“ ApL©$rsdp„ rÓL$p¡Zdp„ k„NusL$pf, QsyóL$p¡Zdp„ NpeL$, hsy®mdp„ Arc“¡sp“u k„¿ep 
v$ip®hu R>¡. s¡“y„ r“funZ L$fu Ap‘¡gp âñ“p¡ DÑf ip¡^p¡.

	 âñ: k„NusL$pf, NpeL$ A“¡ Arc“¡sp Ap ÓZ¡e NyZ lp¡e s¡hp gp¡L$p¡“u Ly$g k„¿ep L¡$V$gu 
R>¡?

	

	 (1)	 3$	 (2)	 4	 (3)	 5$	 (4)	 2

69.	 1 a¡b°yhpfu 2016“p fp¡S> kp¡dhpf lsp¡. sp¡ 1 a¡b°yApfu 2010“p fp¡S> L$ep¡ hpf lsp¡?

	 (1)	 kp¡dhpf$	 (2)	 d„Nmhpf	 (3)	 Nyê$hpf$	 (4)	 iy¾$hpf$

70.	 âñ“p õ’p“¡ Aph“pfu k„¿ep“p¡ ‘ep®e ip¡^p¡.
4 14 49
9 18 36
16 ? 25

	 (1)	 18$	 (2)	 15	 (3)	 30$	 (4)	 20

71.	 A¡L$ kp„L¡$rsL$ cpjpdp„ dv$“ = 417, kv$“ = 197, hd“ = 341 A¡d gMpe R>¡. sp¡ 

s¡S> cpjpdp„ "hk“' Ap iåv$ L¡$hu fus¡ gMpi¡?

	 (1)	 917$	 (2)	 391	 (3)	 471$	 (4)	 734
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72. 	 �In a code language 246 is written as 82448. How will 579 be written in the 
same code language?

	 (1)	 305690	 (2)	 356399	 (3)	 355699	 (4)	 356345

73. 	 Select the correct alternative to replace question mark.

	 	 	 	
	 (1)	 64	 (2)	 152	 (3)	 224	 (4)	 112

74. 	 �Grampanchayat has appealed the local people to contribute in the ‘Jalyukta Shivaar’ 
scheme. In this situation which action will be appropriate for Atharva?

	 (1)	 Atharva will plan for an outing with family.
	 (2)	 �Atharva will understand the importance of the scheme and will happily 

contribute.
	 (3)	 Atharva will tell people about the drawbacks of the scheme.
	 (4)	 Atharva will give excuse for an important work and will stay at home.

75. 	 �While going to school you see a magic show going on. Your friend Subhash 
insists you to see that. What will you do?

	 (1)	 Leaving Subhash there, you will go to school.
	 (2)	 Take along Subhash to school.
	 (3)	 �Tell Subhash the importance of studies and ask him to control the temptation 

for magic show.
	 (4)	 �Complain to his parents that instead of going to school he keeps watching 

magic show.
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72.	 A¡L$ kp„L¡$rsL$ cpjpdp„ 246 Ap k„¿ep 82448 A¡d gMpe R>¡. sp¡ s¡ S> cpjpdp„ 579 

Ap k„¿ep L¡$hu fus¡ gMpi¡?

	 (1)	 305690$	 (2)	 356399	 (3)	 355699	 (4)	 356345

73.	 Ap‘¡gu ApL©$rsdp„ âñrQŒ“p õ’p“¡ Aph“pfu k„¿ep“p¡ ‘ep®e ip¡^p¡.

	 	 	 	

	 (1) 64$		  (2) 152	 (3) 224$	 (4) 112$

74.	 "S>gey¼s rihpf' L$pe®¾$d dpV¡$ N°pd‘„Qpes¡ “pNqfL$p¡“¡ îdv$p““y„ Aphl¹p“ L$ey¯ R>¡. Aphp hMs¡ 

A’h®“u L$C L©$rs ep¡Áe W$$fi¡?

	 (1)	 A’h® Ly$Vy„$b kp’¡ blpf afhp S>hp“p¡ L$pe®¾$d ep¡S>i¡.$	
	 (2)	 A’h® îdv$p““y„ dlÒh kdÆ Ap“„v$’u îdv$p““p L$pddp„ klcpNu ’i¡.

	 (3)	 S>gey¼s rihpf ep¡S>“pdp„ fl¡gu ÓyV$uAp¡ gp¡L$p¡“¡ L$l¡i¡.$	
	 (4)	 dlÒh“y„ L$pd R>¡ A¡d L$lu Of¡ S> fl¡hp“y„ ‘k„v$ L$fi¡.$$

75.	 ipmpdp„ S>sp fõsp ‘f Åvy$“p M¡g Qpgy R>¡ A“¡ sdpfp¡ rdÓ kycpj sd“¡ s¡ Å¡hp dpV¡$ 

ApN°l L$f¡ R>¡ Aphp hMs¡ sd¡ iy„ L$fip¡?

	 (1)	 kycpj“¡ Ðep„ S> R>p¡X$u A¡L$gp S> ipmpdp„ S>ip¡.	
	 (2)	 kycpj“¡ M¢Qu“¡ ipmpdp„ gC S>ip¡.

	 (3)	 kycpj“¡ Aæepk“y„ dlÒh L$lu Åvy$“p M¡g Å¡hp“p¡ dp¡l R>p¡X$hp L$l¡ip¡.$	
	 (4)	� kycpj“p Of¡ S>C s¡ ipmpdp„ “ Aphsp Åvy$“p M¡g Sy>A¡ R>¡. s¡hu s¡“p ‘pgL$p¡ 

‘pk¡ aqfepv$ L$fip¡.
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